Contract Period: 10/1/2009 - 9/30/2010

No Award for items 125 & 130

GTS-Welco won: 8

Delo Welding won: 46 and Gases

Tarco Steel, Inc. won: 13

Haun Welding Supply won: 31

Dual Award: 1

Sean Joyce from BOCES spoke with Jim Coffey at Delo Welding and he welcomes servicing those districts interested in doing so under the OCM Bid terms and conditions. Attached is

an award summary of what was awarded for your review. Jim's # is 478-2188. Please contact Jim directly to discuss your districts specific

			Estimated	Unit of	Bid Price per Unit of Measure	Extension	Indicated Mfg.	Indicate Mfg.
Item #	BID ITEMS AND MATERIALS DESCRIPTION	Awarded Vendor	Quantities	Measure	(\$)	(\$)	You are Bidding	Model #
	Tillman Premium Protection Kit Part# KIT-1 or equal Kit Includes: 1 Pr. Gloves- Heavy Heat Resistant Welder Gloves, 1 Pr. Work Gloves-Leather/Cotton W/Cuff to Handle Steel, 1 Pr-Light Cowhide Tig Weld Goves (ANY SIZE), 1-Safety Glasses-Clear-Meets Z97 ANSI Standard, 1-Torch Lighter, 1-Torch Cleaner, 1-							
1	Chipping Hammer and 1-Wire Brush-Wooden Handle	Delo Welding	32	EACH	\$52.50	\$1,680.00	Tillman	Kit I
2	Jacket, welding, leather (Large) , (Tillman)	Delo Welding	32	EACH	\$20.10	\$643.20	Tillman	9630
3	Jacket, welding, leather (medium) , (Tillman)	Delo Welding	32	EACH	\$20.10	\$643.20	Tillman	9630
4	Jacket, welding, leather (medium), (Steiner)	Delo Welding	32	EACH	\$20.10	\$643.20	Tillman	9630
5	Jacket, welding, leather (small) (Tillman)	Delo Welding	32	EACH	\$20.10	\$643.20	Tillman	9630
6	Gloves, welding leather (24CL Tillman)	Delo Welding	32	PAIR	\$7.40	\$236.80	24 CL (not an alt)	24-CL
7	Gloves, welding leather (1075 Tillman)	Delo Welding	32	PAIR	\$2.15	\$68.80	Tillman	
8	Gloves, welding leather (Anti flame wear #SKU505Q)	Delo Welding	32	PAIR	\$2.15	\$68.80	Tillman	
9	Helmets, welding (flip up lens) 2 x 4 1/4	Delo Welding	32	EACH	\$24.00	\$768.00	Jackson	0744-9453
10	Glasses, safety, w/side shields I tem #ST110	Delo Welding	32	PAIR	\$1.45	\$46.40		A-200
11	Lens, welding, 2x4 1/4, Clear Plastic, 100 per Box	GTS-Welco	32	вох	\$16.66	\$533.12	Real Gear	RGU304401
12	Lens, welding, 2x4 1/4, shade #10	GTS-Welco	32	EACH	\$0.29	\$9.28	Real Gear	RGU302410
13	Helmets, headgear, (Jackson Style #170s930-742-000 w/clear visor)	Delo Welding	32	EACH	\$10.50	\$336.00	Jackson	
14	Welding Boots - Steel Toed, 8" high, lace-up or slip-on	No Award	32	PAIR				
15	Rods, carbon arc, Arcair, Copper clad pointed electrodes 1/4"x12", 50 per box	GTS-Welco	32	вох	\$7.78	\$248.96	Arcair	ARC2204-3003

Contract Period: 10/1/2009 - 9/30/2010

No Award for items 125 & 130

GTS-Welco won: 8

Delo Welding won: 46 and Gases

Tarco Steel, Inc. won: 13

Haun Welding Supply won: 31

Dual Award: 1

Sean Joyce from BOCES spoke

with Jim Coffey at Delo Welding and he welcomes servicing those districts interested in doing so under the OCM Bid terms and conditions. Attached is an award summary of what was awarded for your review. Jim's # is 478-2188. Please contact Jim directly to discuss your districts specific

Item #	BID ITEMS AND MATERIALS DESCRIPTION	Awarded Vendor	Estimated Quantities	Unit of Measure	Bid Price per Unit of Measure (\$)	Extension (\$)	Indicated Mfg. You are Bidding	Indicate Mfg. Model #
16	Electrodes, E-7018, 5/32" dia	Haun Welding Supply	32	LBS	\$1.27	\$40.64	Lincoln	610-028282
17	Electrodes, E-7018, 1/8" dia	Haun Welding Supply	32	LBS	\$1.27	\$40.64	Lincoln	610-028281
18	Electrodes, E-6010, 1/8" 5-P PLUS or Pipe fitters special	Haun Welding Supply	32	LBS	\$1.35	\$43.20	ESAB	610-811004050
19	Electrodes, Tungsten, 3/32" dia. 2% thoriated	Delo Welding	32	EACH	\$1.74	\$55.68	Real Gear	RGU 3327GT2
20	Electrodes, Tungsten 1/16" dia non thoriated	Delo Welding	32	EACH	\$2.97	\$95.04	Real Gear	RGU 187GT2
21	Electrodes, Tungsten 3/32 dia. Nonthoriated	Delo Welding	32	EACH	\$1.68	\$53.76	Real Gear	RGU 3327GT2
22	Wheel grinding, 15,000 rpm, depressed center, 4 1/2" x 1/4" x 7/8"	Delo Welding	32	EACH	\$1.16	\$37.12	Sait	UNI 20060
	WI 10 11 45 000 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1							
23	Wheel Cutting 15,000 rpm , depressed center, 4 1/2" x 3/64" x 7/8" 11-%042 or Equal	Delo Welding	32	EACH	\$2.50	\$80.00	Walter	WAL 11T042
24	Wheel Flap, 3" 20,000 rpm, 60 grit-(Walter)	Delo Welding	32	EACH	\$5.89	\$188.48	Walter	WAL 15F706

Contract Period: 10/1/2009 - 9/30/2010

No Award for items 125 & 130

GTS-Welco won: 8

Delo Welding won: 46 and Gases
Tarco Steel, Inc. won: 13

Haun Welding Supply won: 31

Dual Award: 1

Sean Joyce from BOCES spoke
with Jim Coffey at Delo Welding and he welcomes servicing those districts
interested in doing so under the OCM Bid terms and conditions. Attached is
an award summary of what was awarded for your review. Jim's # is
478-2188. Please contact Jim directly to discuss your districts specific

Item #	BID ITEMS AND MATERIALS DESCRIPTION	Awarded Vendor	Estimated Quantities	Unit of Measure	Bid Price per Unit of Measure (\$)	Extension (\$)	Indicated Mfg. You are Bidding	Indicate Mfg. Model #
25	Plugs, ear, EAR 200 per box	Dual Award - Haun Welding Supply	32	вох	\$18.00	\$576.00	3M	930-1100
25	Plugs, ear, EAR 200 per box	Dual Award - Delo Welding	32	вох	\$18.00	\$576.00	EAR	310-1001
26	Masks, dust 100 per box	Delo Welding	32	вох	\$7.00	\$224.00	Crews	
27	Brushes, Welders wire	GTS-Welco	32	EACH	\$0.77	\$24.64	Real Gear	RGU 480103
28	Brush, inspection (tooth brush) stainless steel	GTS-Welco	32	EACH	\$0.37	\$11.84	Real Gear	RGU 480190
29	Shields, side for regular glasses (plastic)	Haun Welding Supply	32	EACH	\$0.39	\$12.48	ОКІ	930-934-60
30	Rods carbon arc, Arcair, cooper clad pointed electrodes 1/4" x 12" (50 per box)	Delo Welding	32	BOX	\$8.00	\$256.00	Arcair	
31	Tips cutting, oxy/acetylene, Victor 0-3-103-3	Haun Welding Supply	32	EACH	\$4.55	\$145.60	Victor	201-CS31013
32	Tips cutting oxy/acetylene A.O. Smith, MC 12-3	Delo Welding	32	EACH	\$8.00	\$256.00	Smith	
33	Tips cutting oxy/acetylene A.O. Smith, MC 12-0	Delo Welding	32	EACH	\$8.00	\$256.00	Smith	
34	Tips cutting oxy/acetylene A.O. Smith, MC 12-1	Delo Welding	32	EACH	\$8.00	\$256.00	Smith	
35	Tips cutting oxy/acetylene A.O. Smith, MC 12-2	Delo Welding	32	EACH	\$8.00	\$256.00	Smith	
36	Wire MIG 0.035 ER70S-3 solid 30# spool	Delo Welding	32	EACH	\$31.88	\$1,020.16	Harris	
37	Wire MIG 0.023 ER70S-3 Solid 10# spool	Delo Welding	32	EACH	\$16.25	\$520.00	Harris	
38	Wire MIG 0.035 ER70S-3 solid 33# spool	Delo Welding	32	EACH	\$35.00	\$1,120.00	Harris	
39	Wire MIG 0.045, ER70S-3 solid 30# spool	Delo Welding	32	EACH	\$31.00	\$992.00	Harris	

Contract Period: 10/1/2009 - 9/30/2010

No Award for items 125 & 130

GTS-Welco won: 8

Delo Welding won: 46 and Gases
Tarco Steel, Inc. won: 13

Haun Welding Supply won: 31

Dual Award: 1

Sean Joyce from BOCES spoke

needs and situation.

with Jim Coffey at Delo Welding and he welcomes servicing those districts interested in doing so under the OCM Bid terms and conditions. Attached is an award summary of what was awarded for your review. Jim's # is 478-2188. Please contact Jim directly to discuss your districts specific

Item #	BID ITEMS AND MATERIALS DESCRIPTION	Awarded Vendor	Estimated Quantities	Unit of Measure	Bid Price per Unit of Measure (\$)	Extension (\$)	Indicated Mfg. You are Bidding	Indicate Mfg. Model #
40	Wire MIG 0.045, ER70S-3 solid 33# spool	Delo Welding	32	EACH	\$34.00	\$1,088.00	Harris	
41	Wire MIG 0.045, ER-71T, Flux Core 30# spool	Delo Welding	32	EACH	\$44.10	\$1,411.20	Harris	
	·	· ·						440 5747404500
42	Wire MIG 0.045, ER-71T, Flux Core 33# spool	Haun Welding Supply	32	EACH	\$46.20	\$1,478.40	Weldcote Mtls	610-E71T104533
43	Wire MIG 3/64" ER-4043, Aluminum 1# spools	Haun Welding Supply	32	EACH	\$3.60	\$115.20	Weldcote Mtls	610-4043364X1
44	Wire MIG 0.023 ER705-6 Solid #10 spool	Haun Welding Supply	32	EACH	\$16.39	\$524.48	Weldcote Mtls	610-E70S602311
45	Wrap-around (Lee pipefitters)type	Haun Welding Supply	32	EACH	\$9.75	\$312.00	Lee	870-R-12
46	Cleaners, tip (oxy/acetylene) torch	GTS-Welco	32	EACH	\$0.92	\$29.44	Real Gear	RGU 400001
47	Gage, welders, fillet (Fiber Metal Style) product	Haun Welding Supply	32	EACH	\$9.90	\$316.80	Harris	870-WFG
48	Nozzles, TIG torch, ceramic cups sizes, 5 13n09 or equal-(Weld Craft)	Delo Welding	32	EACH	\$0.45	\$14.40	WNI-CK	
49	Nozzles, TIG torch, ceramic cups sizes, 6, 13n10 or equal-(Weld Craft)	Delo Welding	32	EACH	\$0.45	\$14.40	СК	
50	Nozzles, TIG torch, ceramic cups sizes, 7, 13n11 or equal-(Weld Craft)	Delo Welding	32	EACH	\$0.45	\$14.40	СК	
51	Nozzles, TIG torch, ceramic cups sizes, 8, 13n12 or equal-(Weld Craft)	Delo Welding	32	EACH	\$0.45	\$14.40	СК	

Contract Period: 10/1/2009 - 9/30/2010

No Award for items 125 & 130

GTS-Welco won: 8

Delo Welding won: 46 and Gases
Tarco Steel, Inc. won: 13

Haun Welding Supply won: 31

Dual Award: 1

Sean Joyce from BOCES spoke

needs and situation.

with Jim Coffey at Delo Welding and he welcomes servicing those districts interested in doing so under the OCM Bid terms and conditions. Attached is an award summary of what was awarded for your review. Jim's # is 478-2188. Please contact Jim directly to discuss your districts specific

Item #	BID ITEMS AND MATERIALS DESCRIPTION	Awarded Vendor	Estimated Quantities	Unit of Measure	Bid Price per Unit of Measure (\$)	Extension (\$)	Indicated Mfg. You are Bidding	Indicate Mfg. Model #
52	Tips, contact, MIG 300 amp (Tweco part #) 14H-35	Haun Welding Supply	32	EACH	\$0.39	\$12.48	Victor	500-WS14H35
53	Tips, contact, MIG 300 amp (Tweco part #) 14H-45	Haun Welding Supply	32	EACH	\$0.39	\$12.48	Victor	500-WS14H45
54	Tip, contact, MIG 300 amp (Tweco part #)14-HFC-45	Haun Welding Supply	32	EACH	\$0.28	\$8.96	Victor	500-WS14-45
55	Tips, contact, MIG 300 amp (Tweco part #)14-116 HFC-1/16"	Haun Welding Supply	32	EACH	\$0.28	\$8.96	Victor	500-WS14-116
56	Nozzles, MIG (Tweco part #24 a 62) size # 1/2"	Haun Welding Supply	32	EACH	\$1.54	\$49.28	Victor	500-WS24A50
57	Nozzles, MIG (Tweco part #24 a 62) size # 5/8"	Haun Welding Supply	32	EACH	\$1.49	\$47.68	Victor	500-WS24A-62
58	Nozzles, MIG (Tweco part #24 a 62) size #3/4"	Haun Welding Supply	32	EACH	\$1.49	\$47.68	Victor	500-WS24A-75
59	Insulator, Nozzle, MIG, (Tweco part #34 A)	Delo Welding	32	EACH	\$0.68	\$21.76	Tweco	
60	Defuser, Nozzle, MIG, (Tweco Part # 34 FN)	Delo Welding	32	EACH	\$1.25	\$40.00	Tweco	
61	Defuser, Gas, MIG, (Tweco part # 54 A)	Delo Welding	32	EACH	\$1.20	\$38.40	Tweco	
(2)	Course combination 42% (AAAA)	Have Walding Comb.	00	54011	00.75	****	Comitor Tool	000 2000
62	Square, combination, 12" (Metal)	Haun Welding Supply	32	EACH	\$3.75	\$120.00	Service Tool	023-39883
63	Wheel, Flap 3 Inch 20,000 RPM, 120 Grit-Walter 15F706)	Delo Welding	32	EACH	\$3.05	\$97.60	CGW	
4.4	Consistence flat	Hour Wolding Supply	22	nov	#10.00	#222 F/	OKI	070 51 47554
64	Soap stone, flat	Haun Welding Supply	32	вох	\$10.08	\$322.56	OKI	870-FLATSEA
65	Wheel, grinding, 15,000 rpm, 4 1/2"x1/4"x7/8" A-24ALU or equal	Delo Welding	32	EACH	\$0.98	\$31.36	CGW	
66	E6010, 1/8" dia. RED	Haun Welding Supply	32	LBS	\$1.29	\$41.28	ESAB	610-811005016
67	Collet, Electrode, TIG Weld Torch, 1/16", 3/32", 1/8"	Delo Welding	32	EACH	\$0.39	\$12.48	СК	

Contract Period: 10/1/2009 - 9/30/2010

No Award for items 125 & 130

GTS-Welco won: 8

Delo Welding won: 46 and Gases
Tarco Steel, Inc. won: 13

Haun Welding Supply won: 31

Dual Award: 1

Sean Joyce from BOCES spoke

with Jim Coffey at Delo Welding and he welcomes servicing those districts interested in doing so under the OCM Bid terms and conditions. Attached is an award summary of what was awarded for your review. Jim's # is 478-2188. Please contact Jim directly to discuss your districts specific needs and situation.

Item #	BID ITEMS AND MATERIALS DESCRIPTION	Awarded Vendor	Estimated Quantities	Unit of Measure	Bid Price per Unit of Measure (\$)	Extension (\$)	Indicated Mfg. You are Bidding	Indicate Mfg. Model #
							211	
68	Collet, Body TIG Weld Torch, 1/16", 3/32", 1/8"	Delo Welding	32	EACH	\$0.75	\$24.00	СК	
69	TIG Wire-Aluminum 4043 1/8" dia	Haun Welding Supply	32	LBS	\$2.63	\$84.16	Weldcote Mtls	620-404318X36
70	TIC Wise Alminum 1012 2 (22) dis	Have Walder County					Maldana Mila	(20, 40,42222)/2/
70	TIG Wire-Aluminum 4043 3/32" dia	Haun Welding Supply	32	LBS	\$2.76	\$88.32	Weldcote Mtls	620-4043332X36
71	TIG Wire-Steel Mild 1/8" dia ER-70-S2	Haun Welding Supply	32	LBS	\$1.58	\$50.56	Weldcote Mtls	620-70S218X36
72	TIG Wire-Steel (Mild) 3/32" dia ER-70-S2	Haun Welding Supply	32	LBS	\$1.32	\$42.24	Weldcote Mtls	620-70S2332X36
73	TIG Wire SS 308 1/16" dia	Haun Welding Supply	32	LBS	\$4.34	\$138.88	Weldcote Mtls	620-308116X36
		J 113		-				
74	TIG Wire SS 308 3/32" dia	Haun Welding Supply	32	LBS	\$4.13	\$132.16	Weldcote Mtls	620-308332X36
75	TIG Wire Mild Steel 1/16" dia ER80S-D2	GTS-Welco	32	LBS	\$2.23	\$71.36	Harris	HWE 8050230
76	Split Joint Channel lock Pliers model 440 or equal	Haun Welding Supply	32	EACH	\$3.75	\$120.00	Service Tool	023-GJ-10
77	Tape, Measuring 12'-(Mfg. Olympia)	Delo Welding	32	EACH	\$2.25	\$72.00	Olympia	43-113
78	Vise Jaw Cap Magnefiy (Fiber Face) 5" Wilton	Haun Welding Supply	32	EACH	\$25.00	\$800.00	Wilton	010-14836
79	Needle Nose Pliers w/cutter, -(Mfg. Olympia)	Delo Welding	32	EACH	\$3.25	\$104.00	Olympia	10-625
80	Contract Tipe 0471 041 for Miller 20 Construit	Delo Welding	22	FACIL	¢0.70	#24.0/	Miller	
80	Contact Tips .0471.061 for Miller 30 Spoolgun	Delo Welding	32	EACH	\$0.78	\$24.96	ivillier	

Contract Period: 10/1/2009 - 9/30/2010

No Award for items 125 & 130

GTS-Welco won: 8

Delo Welding won: 46 and Gases
Tarco Steel, Inc. won: 13

Haun Welding Supply won: 31

Dual Award: 1

Sean Joyce from BOCES spoke
with Jim Coffey at Delo Welding and he welcomes servicing those districts
interested in doing so under the OCM Bid terms and conditions. Attached is
an award summary of what was awarded for your review. Jim's # is
478-2188. Please contact Jim directly to discuss your districts specific
needs and situation.

Item #	BID ITEMS AND MATERIALS DESCRIPTION	Awarded Vendor	Estimated Quantities	Unit of Measure	Bid Price per Unit of Measure (\$)	Extension (\$)	Indicated Mfg. You are Bidding	Indicate Mfg. Model #
81	Nut, 375-24 136748 for same	Delo Welding	20	5400	20.05	204.40	Miller	
01	Nut, 3/3-24 130/46 ful Salile	Delo Welding	32	EACH	\$2.95	\$94.40	Miller	
82	Bandsaw Blade 9' 11 1/2" x 1" 8/5 Superweld MX	Haun Welding Supply	32	EACH	\$30.20	\$966.40	Diamond Saw	030-923167-119
83	Bandsaw Blade 13' 6" x 1" x .035 x 6 x 10	Haun Welding Supply	32	EACH	\$39.70	\$1,270.40	Diamond Saw	030-923167-162
		ridan troiding dappry	JZ	EACH	\$37.70	\$1,270.40	Diamond Can	000 720107 102
84	Wheel, Polish 4 1/2" x 7/8, Walter Model 06-B-462, Enduro Flex Disc 15R462	Delo Welding	32	EACH	\$2.26	\$72.32	Anderson	42304
85	4" Wire Knotwheel 5/8" x 11 Thread	GTS-Welco	32	EACH	\$4.80	\$153.60	Real Gear	RGU 480750
86	3" x 5/8" x 11Cup Wire Brush	Delo Welding	32	EACH	\$7.38	\$236.16	Anderson	18215
		-						
					Indicate Price			
					Per Kit			
87	WELDER/FITTER HAND TOOL KIT		# of Kits	32	\$35.95			
	16 Oz. Ball Peem Hammer	Haun Welding Supply	(1) Each/Kit	1/Ea. Per Kit				
	Needle Nose Pliers W/Cutter		(1) Each/Kit	1/Ea. Per Kit				
	1/2" Cold Chisel		(1) Each/Kit	1/Ea. Per Kit				
	1/4" X 4" Center Punch		(1) Each/Kit	1/Ea. Per Kit				
	Combination Metal Square 12"		(1) Each/Kit	1/Ea. Per Kit				
	10" Adjustable Wrench		(1) Each/Kit	1/Ea. Per Kit				
	Slip Joint Channel Lock Plier #440 or Equal		(1) Each/Kit	1/Ea. Per Kit				
	12' Tape Measure (Mfg. Olympia)		(1) Each/Kit	1/Ea. Per Kit				
	GASES							
88	Oxygen 300 Cu. Ft. Bottle Size	Delo Welding	5	BOTTLES	\$4.25	\$21.25		<u>Page 7 of 1</u>

Contract Period: 10/1/2009 - 9/30/2010

No Award for items 125 & 130

GTS-Welco won: 8

Delo Welding won: 46 and Gases
Tarco Steel, Inc. won: 13

Haun Welding Supply won: 31

Dual Award: 1

Sean Joyce from BOCES spoke

with Jim Coffey at Delo Welding and he welcomes servicing those districts interested in doing so under the OCM Bid terms and conditions. Attached is an award summary of what was awarded for your review. Jim's # is 478-2188. Please contact Jim directly to discuss your districts specific

Item #	BID ITEMS AND MATERIALS DESCRIPTION	Awarded Vendor	Estimated Quantities	Unit of Measure	Bid Price per Unit of Measure (\$)	Extension (\$)	Indicated Mfg. You are Bidding	Indicate Mfg. Model #
89	Acetylene 300 C. Ft. Bottle Size	Delo Welding	5	BOTTLES	\$35.50	\$177.50		
90	MIX 300 Cu. Ft. Bottle Size, 85/15% Mix (Argon 85%/Co2 15%)	Delo Welding	5	BOTTLES	\$16.50	\$82.50		
91	MIX 300 Cu. Ft. Bottle Size, 75/25% Mix (Argon 75%/Co2 25%)	Delo Welding	5	BOTTLES	\$16.50	\$82.50		
92	Argon 300 Cu. Ft. Bottle Size	Delo Welding	24	BOTTLES	\$16.00	\$384.00		
93	Argon 300 Cu. Ft. Mix 30	Delo Welding	7	BOTTLES	\$17.00	\$119.00		
94	CO2 220 Cu. Ft. Bottle Size	Delo Welding	5	BOTTLES	\$7.00	\$35.00		
95	Oxygen 220 (251 Cu. Ft.)	Delo Welding	61	BOTTLES	\$4.25	\$259.25		
96	Mix Argon (75-25 140 Cu. Ft.)	Delo Welding	15	BOTTLES	\$8.00	\$120.00		
97	Acetylene B-Tank 40 Cu Ft.	Delo Welding	3	BOTTLES	\$8.00	\$24.00		
98	Acetylene - Tank 145 Cu Ft.	Delo Welding	26	BOTTLES	\$18.50	\$481.00		
99	Safety-Silv Brazing alloy 45% (93G)	Delo Welding	5	TROY OZ.	\$36.00	\$180.00	Harris	зто
100	Stay Silv Brazing Flux	Delo Welding	5	BOTTLES	\$5.50	\$27.50	Harris	
101	Stay Clean Flux	Delo Welding	5	BOTTLES	\$3.10	\$15.50	Harris	
102	Stay Silv #15 Phos Brazing Alloy	Delo Welding	5	LB.	\$49.00	\$245.00	Harris	
103	Nitrogen Tank Large 220-230	Delo Welding	5	BOTTLES	\$4.50	\$22.50		
104	Nitrogen Liquid; 20 Liter Bottle	Delo Welding	5	BOTTLES	\$14.00	\$70.00		
105	Propane 20# (100-PROQ20)	Delo Welding	5	BOTTLES	\$9.50	\$47.50		
106	Propane 33# (100-PROQ33)	Delo Welding	5	BOTTLES	\$16.00	\$80.00		
107	Propane 100# (Vapor)	Delo Welding	5	BOTTLES	\$40.00	\$200.00		

Contract Period: 10/1/2009 - 9/30/2010

No Award for items 125 & 130

GTS-Welco won: 8

Delo Welding won: 46 and Gases
Tarco Steel, Inc. won: 13

Haun Welding Supply won: 31

Dual Award: 1

Sean Joyce from BOCES spoke

with Jim Coffey at Delo Welding and he welcomes servicing those districts interested in doing so under the OCM Bid terms and conditions. Attached is an award summary of what was awarded for your review. Jim's # is 478-2188. Please contact Jim directly to discuss your districts specific needs and situation.

Item #	BID ITEMS AND MATERIALS DESCRIPTION	Awarded Vendor	Estimated Quantities	Unit of Measure	Bid Price per Unit of Measure (\$)	Extension (\$)	Indicated Mfg. You are Bidding	Indicate Mfg. Model #
108	Helium	Delo Welding	5	BOTTLES	\$15.00	\$75.00		
109	Hydrogen	Delo Welding						
109	nydrogen	Delo Welding	5	BOTTLES	\$9.00	\$45.00		
110	Helium 60 Cubic Feet	Delo Welding	5	CYLI NDER	\$6.00	\$30.00		
111	Hydrogen 220 Cubic Feet	Delo Welding	5	CYLI NDER	\$9.00	\$45.00		
112	Acetylene MC 10 Cubic Feet	Delo Welding	12	CYLI NDER	\$6.00	\$72.00		
113	Oxygen R Cylinder 20 Cubic Feet	Delo Welding	4	CYLI NDER	\$3.85	\$15.40		
114	CO2 Liquid 50 Pound Cylinder	Delo Welding	23	CYLI NDER	\$7.00	\$161.00		
115	Acetylene B-40	Delo Welding	5	CYLI NDER	\$8.00	\$40.00		
116	MC 10 Cubic Feet	Delo Welding	5	CYLI NDER	\$6.00	\$30.00		
117	Oxygen 20 Cubic Feet	Delo Welding	5	CYLI NDER	\$3.85	\$19.25		
118	Nitrogen 58 Cubic Feet	Delo Welding	5	CYLI NDER	\$3.75	\$18.75		
119	Nitrogen 40 Cubic Feet	Delo Welding	5	CYLI NDER	\$3.00	\$15.00		
	Cylinder/Bottle Rental Fee Per Day	Delo Welding			0.09	Per Day		
		<u> </u>						
	STEEL							
120	3/8 x 6 Hot Rolled FLAT X 20' 0"	Tarco Steel, Inc.	50	20' Standard Sheet	\$5.45			Per foot/1000' qty.
121	1/4 X 3 Hot Rolled FLAT X 20' 0"	Tarco Steel, Inc.	20	20' Standard Sheet	\$1.93			Per foot/400' qty.
122	1 X 4 Hot Rolled FLAT X 20' 0"	Tarco Steel, Inc.	1	20' Standard Sheet	\$12.24			Per foot/20' qty

Contract Period: 10/1/2009 - 9/30/2010

No Award for items 125 & 130

GTS-Welco won: 8

Delo Welding won: 46 and Gases
Tarco Steel, Inc. won: 13

Haun Welding Supply won: 31

Dual Award: 1

Sean Joyce from BOCES spoke
with Jim Coffey at Delo Welding and he welcomes servicing those districts
interested in doing so under the OCM Bid terms and conditions. Attached is
an award summary of what was awarded for your review. Jim's # is

478-2188. Please contact Jim directly to discuss your districts specific

needs and situation.

Item #	BID ITEMS AND MATERIALS DESCRIPTION	Awarded Vendor	Estimated Quantities	Unit of Measure	Bid Price per Unit of Measure (\$)	Extension (\$)	Indicated Mfg. You are Bidding	Indicate Mfg. Model #
123	16 GA Hot Rolled SHEET X 48" X 96"	Tarco Steel, Inc.		54011	M 10			Per sq. ft./32' qty
123	10 GA HUL KUIIEU SHEET A 40 A 90	Tarco Steer, Tric.	1	EACH	\$1.42			Per sq. 11.732 qty
124	1 1/2" OD X .095WA 4130CDS N X 19' 0"	Tarco Steel, Inc.	1	EACH	\$2.14			Per foot/20' qty
125	1 1/2" OD X .095WA 4130CDS N X 17' 0"	No Award	1	EACH				
				2.1011				
126	1/4" X 1 1/2" X 10 Ft Bar P-1 Metal	Tarco Steel, Inc.	1	EACH	\$0.99			Per foot/10' qty
127	3/8" X 6" X 10 Ft Bar P-1 Metal	Tarco Steel, Inc.	1	EACH	\$6.46			Per foot/10' qty
127	0/0 X 0 X 10 X 0 0 1 1 1 1 1 1 1 1 1 1 1 1	Taras Staar, Tria.		EAGIT	\$6.40			101 1001/10 419
128	3/4" X 4" Bar P-1 Metal	Tarco Steel, Inc.	1	EACH	\$8.89			Per foot/20' qty
400	0/41/2015	T 01 1 1						D 6 1/001 1
129	3/4" X 3" Bar P-1 Metal	Tarco Steel, Inc.	1	EACH	\$7.10			Per foot/20' qty
130	Sheetmetal, Flatstock 26 gauge 4'x8' ft	No Award	1	EACH				
131	1/4" X 3 Stainless X 20" 0"	Tarco Steel, Inc.	1	20' Standard Sheet	\$14.35			Per foot/12' qty
132	1/4" X 3" Aluminum X 20' 0"	Tarco Steel, Inc.	1	20' Standard Sheet	\$3.30			Per foot/12' qty
133	1/2" X 6" Hot Rolled Flat (blue) Carben Steel ASTM A36	Tarco Steel, Inc.	1	20' Standard Sheet	\$7.47			Per foot/20' qty
134	6" Sch. 40 Pipe	Tarco Steel, Inc.	2	EACH	\$17.90			Per foot/48' qty

Notes:

Tarco Steel, Inc.:

All Mat'l prices are delivered to your 4 locations. Prices are good to 9/10. A delivery charge of \$30.00 will apply on orders under \$150.00